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Desive
@ cos (A+B)=cos Acos B-sin Asin B
We know that Cos B = Co5 -® M log
. teldlos
—Sind = sm(®
and that @ cos (A-B)=cos Acos B+ sin Asin B

Cos (A- (-8))= s hes () +SnASInGR)
= (o5 (AB) = Cos A Cos B — SmAsin B -

Derive  (B) cos 2A =cos? A-sin’A

We know that @ cos (A+B)=cos Acos BE-sin Asin B

> (s (AtA)=cos Aces B ~SinASWA
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Trigonometric Proofs 5, 6 and 7

Consider Cos A = '%

Sina (4\3 -A) = %

C“sh = Silﬂ(qs"h)

likewise: SmA = 'E’

Cos (A0-AD= =

SinA = N(%-A)

Derive @ sin (A+B)=sin Acos B+ cos Asin B

We. Jwaro Fhot Cos (40 -AA) = SinA
sin (W0°-A) = GsA

omd cos (A-B)=cos Acos B +sin Asin B

Css ( @o-A)-g) = Cos (A0-A) cos B +Sn (Fo-An B
¢s (T0-(A43) = Sinf esB ¥+ osASMB

Sin (A+R) = %S
Qaed
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